
25. A bottle has an opening of radius a and length b . A cork of 
length b anct radius ( a + ,\a) where (/\a<< a) is compressed 
to fit into the opening completely (see figure). If the bulk 
modulus of cork is Band frictional coefficient between the 
bottle and cork is µ then the force needed to push the cork 
into the bottle is : (Online April 10, 2016) 



(a) (,rµB b) a 
i(c) (rr,pB1b) Aa 

a 
[~ 

(b) (2nµBb) Aa 
Cd) (4 n:JJ-Bb)Aa 



s·1r1ess = 81 X stra ii n 
N _ 821ra.6,axb 

(2- )b, - l 
. mt wab 

.. 1(l1ra)2· aab2 
=t- N=:B - ?~- -

;ra-b 
For1ee needed to push lhe eor·k.~ 

f = µN· = · 11Aw-b~aB =-(4rrJIBb1)Aa 



{ "type": "BusinessCard", "isBackSide": false }

